

$$u(x, t) = w(x, t) + \Phi(x)$$

$$u_{xx} = u_t + 2x \quad \text{و } u = w + \Phi \quad (w_{xx} + \Phi_{xx}) = w_t + 2x$$

$$w_{xx} = w_t + 2x - \Phi_{xx}$$

از شرط $u(0, t) = 1$ $\Rightarrow u - \Phi(x) = 0 \Rightarrow \Phi(x) = 1$

از شرط $u(1, t) = 1$ $\Rightarrow u - \Phi(x) = 0 \Rightarrow \Phi(x) = 1$

$$u(x, t) = 1 = w(x, t) + \Phi(x)$$

برای $w(0, t) = 0$ و $w(1, t) = 0$ فرض می‌کنیم

$$\Phi(x) \rightarrow \Phi(0) = 1 \text{ و } \Phi(1) = 1$$

از شرط $u(x, 0) = e^x$ $\Rightarrow u(x, 0) = e^x = w(x, 0) + \Phi(x)$

$$w(x, 0) = e^x - \Phi(x)$$

از شرط اولی $w(0, 0) = 0$

از شرط $\Phi(0) = 1$ و $\Phi(1) = 1$ و $\Phi(x) = x$ فرض می‌کنیم

$$\Phi(x) = \int x dx = \frac{1}{2} x^2 + C_1$$

از شرط $\Phi(0) = 1$ $\Rightarrow C_1 = 1$

$$\Phi(1) = \frac{1}{2} (1) + C_1 \cdot 1 + 1 = \frac{1}{2} + C_1 + 1 = \frac{1}{2} + C_1 + 1 = \frac{3}{2} + C_1 = 1$$

$$\Rightarrow C_1 = 1 - \frac{3}{2} = -\frac{1}{2} \Rightarrow C_1 = -\frac{1}{2}$$

$$\Phi(x) = \frac{1}{2} x^2 - \frac{1}{2} x + 1$$

$$Q(0) = c_0 = 1$$

از این شرط

$$Q(1) = \frac{1}{4}(1) + c_1 \cdot 2 + 1 = \frac{1}{4} + 2c_1 + 1 = \frac{5}{4} + 2c_1 + 1 = \frac{9}{4} + 2c_1 = 1$$

$$\Rightarrow 2c_1 = 1 - \frac{9}{4} = -\frac{5}{4} \Rightarrow c_1 = -\frac{5}{8}$$

 $Q_n \Rightarrow$

$$Q(n) = \frac{1}{4}n^2 - \frac{5}{8}n + 1$$